}
def morse{tekst):
tekst = tekst.upper()
lista = []
tor char in tekst:
if char in kodmors:
lista.append(kodmors[char])
elif char == :
lista.append(’ ")

lista.append(' ")
return .join(lista)
if _ name_ == '
tekst = input({"Wprowad:
mors = morse(tekst)

print{"Zakodowany
print{mors)

Zad.2
Czerwony: (0,1, 1, 0)
Zielony: (1,0, 1, 0)

26tty: (0,0, 1, 0)
Turkusowy: (1, 0, 0, 0)
Seledynowy: (0.5, 0, 0.5, 0)
Burgund: (0, 0.8, 0.6, 0.4)

Ecru: (0, 0,0, 0.15)



Bezowy: (0, 0, 0.25, 0.1)
Akwamaryn: (0.5, 0, 0.5, 0)
Granatowy: (1, 1, 0, 0.7)
Szkartfatny: (0, 0.8, 0.8, 0)

Pudrowy réz: (0, 0.2, 0.1, 0)



